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NOTE: - Write same question number and its part
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SECTION-1 sl
2. Attempt any five parts. 10=2x5 -Ef Nz lnbie 32y
() You are fifteen years old. Estimate your age in seconds. FELBEL e duin ST
(ii) How is stop watch used? el iant i)
(iii). Express the following quantities using prefixes. Ebcsad 38a g0 S Jizie i)
(i) 5000 g (ii)52x 10" g (i)5000g (ii)52x10™g

(iv) Define uniform acceleration. LS My (v
(v) Define position. Is it vector or scalar quantity? Seam L SRy W
(vi) Define speed and write its unit. LowrngalSy o)
{vii) What is meant by banking of road? Yo et TS (viD)
(viii) State Newton’s third Law of Motion. G AT hS i)

3. Attempt any five parts. 10=2x5
(i) Define rigid body and moment arm,

(i) Define centre of mass and centre of gravity.

L f Nl $ 3Dy
1 12 (Y SR )
E S8 ST S GD

(iii) Why does the value of ‘g’ vary at different places? Explain -é.:—’u:i‘q_ﬂnu[ A S i)

(iv) How do we represent gravitational constant? Write
its value in SI unit.

-J;.Z,c.ws|JJ:?.;.r,;fﬁw4'f.:$-’fffd¢f Giv)

(v) How much away the moon is from the earth? wmany ZALo Lotisgt e i e tisy (V)
days, moon completes one revolution around th ? tet /Y Lud

(vi) Write Einstein's mass-energy equation and the val
speed of light in SI unit,
(vii) Write importance of wind energy.
(viii) What is meant by biomass? How can electricity be
generated by it?

4. Attempt any five parts. 10=2x5

(i)  Write two important features of kinetic molecular model of matter.

(ii) What is meant by plasma?

(iii) Define density and write its equation.

(iv) Differentiate between temperature and heat.

(v) Define lower and upper fixed points of thermometer,

(vi) What is meant by transfer of heat?

(vii) Differentiate between conduction and convection,
(viii) Write two uses of convection currents.
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E PSS g LG (V)
tei Pt 7P (vi)
.é:fm}/'ycﬂr’"mg’{b’ (vii)
Lol S TS i)

NOTE: - Atternpt any two 5
5. (a) Derive 2™ equation of motion with the help of
speed-time graph.
(b) A stone of mass 100g is attached to the end of a
string 1m long. The stone is rotating in a circle

4)

with a speed of Sms™. Find the tension in the (5)
string.

6. (a) Define kinetic energy. Derive its mathematical @)
equation.

(b) Find the magnitude and direction of a force if its (5)

x-component is 12 N and y-component is § N.
7. (a) What is thermometer? Describe the properties of
liquid used in it.
(b) A cube of glass of 5 cm side and mass 306 g, has
a cavity inside it. If the density of glass is 2.55

gem™, then find the volume of the cavity.
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SECTION-1 i«

2. Attempt any five parts.
(i) Define Least Count of Screw Gauge.

(ii) What do you mean by Vernier Callipers?
(iii) How is the measuring cylinder used?
(iv) What is the difference between Rest and Motion?

(v) Define circular motion.

(vi) Define Force and its unit.

(vii) Define momentum. Write down its formula,
(viii) State Newton’s second law of motion.

3. Attempt any five parts.
(i) State the principle of moments.
(ii) Define centre of mass and centre of gravity.
(iii) Define gravitationa! field strength.
(iv) What is meant by global positioning ?
(v) Why we cannot feel gravitation force arotﬁdﬁs”
(vi) Define efficiency of a system. \9
(vii) Define power and write its equation. /

(viii)

10=2x5

power (hp).

4, Attempt any five parts. 10=2x5

10=2x5

Ifa pump has power 1120 watt, convert it into horsc/)

& izl e $f 2y
LSl g B
tadi T ”n (D)
v;.rw‘dméﬂq? 6 GiD)
T;.J)qu:v: e, (iv)
LaildirEs W
Ev Pl lsiaigd (W)
iy i
e SN2 (i)

&Nzl 83 A

BT T aal N )
.é.y/’JaJ.JT;"»u'..JT/‘" (i)

RERY NSNS STV )

tes e r™ ..5-’1)(‘}:‘ (iv)

£/, ;,C? e u[ da)ff' d{/ J;ul"i,lf\' W)
LSS Il o
LS nmgE s 8 (i)

e LAl ST 1200 4 L1 (viii)

Oé/ i f Nz linbye $Laf Dy

(i) What does show the sudden fall of atmospheric pressure at a plm_@ e b/ el 2y S it B ()

(ity How does a submarine move up the water surface and down

into the water? Explain.
(iii) State Hooke’s Law. What is meant by elastic limit?

(iv) Convert 50°C on Celsius scale into Fahrenheit temperature

scale.
(v) What is thermometer? Why is mercury preferred as a
thermometric substance?

(vi) Explain the impact of greenhouse effect in global warming.

(vit) What is meant by land and sea breezes?

(viii) Define rate of flow of heat. Also write down its equation.

SECTION-1II (9.2
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NOTE: - Attempt any two quemom
5. (a) Derive third equation of motion with the help of speed-
time graph.
(b) A bullet of mass 20[§ is fired from a
velocity 100 ms™. Fi
its mass is 5 kg.
6. (a) Explain energy which can be obtained from water and
the sun sources
(b) A man is pulling a trolley on a horizontal road with a
force of 200N making an angle 30° with road. Find the
horizontal and vertical components of this force.
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7. (a) Write the factors which affect the rate of evaporation of a 4 _ a2 et 2P p.{ 2yl JJII.: ()7

liquid.
(b) The upper head of a pin is a square type whose one side
is 10mm. Find the pressure on it due to a force of 20N.
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Note: You have four choices for each objective type question as A, B, Cand D The choice which you think is correct, fill that Bubble
in front of thar question number, Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in

that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.l ) | /'Jlr
(1)  The number of base units in SI is: et S8 1S (1)
(A) 3 (B) 6 < 7 (D) 9
(2) A body has translatory motion if it moves along a: et ST Jins sty s S @
(A) Straight Line (242" (B) Circle ~ J2/»
(C) Line without rotation ,é’-a.):ﬁju.)._’l (D) Curved path 4:Auu(‘
(3) Inertia depends upon: Q e bnid A (3)
(A) Mass ;1 (B) Net Force 4 J,i% (C) Friction ; &/ (D) Momentum 2% »
(4)  In system international the unit of momemum4§r’ :9..:};9’(""1'/\,:\,‘}";'/"’ (4
(A) Nm (B) Kgms~” ) NS (D) N§*
(3} A force of 10N makes an angle of 30° with the X770 - Jui¥30° AL A -Xud L 210 (5)
axis, Horizontal component of this force will be: ) GO/ Enazs L PR
(A) 4N (B) 5N @ 7N (D) 87N
(6) Earth's gravitational force of attraction vanishes at: Y :4.3(_.;:.,,'&,';}.,)"5‘61/",(9:; (6)
(A) 4 6400 km (B) Infinity 460 (C) 4 42300 km (D) 4 1000 km
(7) The energy stored in a dam water is: :;._J,q,{)u).,e'i‘;ﬁgé./-i (7)
(A) Electrical energy J}vuﬂ. A (B) Potential energy Jz’l.}f'-";
(C) Kinetic energy SAL S (D) Thermal energy S J.#
(8) In Einstein's mass-energy equation “C™ represents the: :;.r/ 2 C L E A S AT (8)
(A) Speed of sound LS (B) Speed of light e (&
(C) Speed of electron 4y Lo 4 (D) Speed of earth /ir ot
» 3 P L T L yrah s 43 3
9) :\vgg:)g::::; tl::tg}t:) :l‘d a bil?ss tube to construct a e pdn adUEC L L Lol )
(A) 0.5m (B) Im (C) 25m (D) 1lm
(10) _ effects evaporation. <t Sl ik et (10)

(A) Temperature ,3:/;’ (B) Surface area of liquid Lab’f Jéc (C) Wind 1= (D) All of these 1770 -

(11) material has large specific heat. e S sz N4t
(A) Copper ¥ (B) lce I~ (C) Water 35 (D) Mercury §./ -
(12) If thickness of wall is doubled, its thermal conductivity: :&JL’J}JV'I/'.’./o’sérr'&-gxo'r (12)
(A) Becomes double < dstfs (B) Remains the same <37,

(C) Becomes half < Jbseds7 (D) Becomes one fourth < Je» 35
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Note: You have four choices for each objective type question as A, B, C and D Thé choice which you think is correct, fill that Bubble
in front of that question number. Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in
that question. Atempt is many guestions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 A
(1) The unit of volume is: ik (1)
(A) Meter % (B) Force ¢ (C) Cubic meter 2 LY (D) Second £
(2)  The formula of velocity is: te- s ¥ Us (2)
(A) v=§ (B) v=% (©) V=d+t (D) V=h+t
(3)  The unit of force is: ey (3)
(A) Meter ~ (B) Second & (/(C ) Joule Uz (D) Newton /¢
(4)  The formula of momentum is; \S‘/ el T (4)
(A)P=ma (B) P = mv (C)P% (DyP=F xd
(5) The Moment Arm is represented by a sign: | @O, eterbe  orkipiosy (5)
(AT (B)L (C)F O/O (D)N
(6)  The formula for mass of the earth is: el AL 2 (6)
(A) Me:%f- (B) Me=%§ (€) Me=Rgl; (D) Me:%g-
(7)  The unit of energy is: et P9l A (7)
(A) Newton ¢ (B) Joule Uz (C) Meter = (D) Second 45
(8)  One kilo joule is equal to: :er.cf.:.)t;‘.{» (%)
(A) 101 (B) 10*) (C) 10'] (D) 10%)
(%) The unit of density in System International is: =q--'r‘£VJ’; -IVCJ".F',"’ (O]
(A) kgm'! (B) Kgm™ (C) kgm™ (D) kgm™
(10) The formula of conversion from Celsius to Kelvin Scale is: :9.ur16r¢4-“;vkc I e (10)
(A) T(K) =270+C (B) T(K) = 271+C (C) T(K) =272+C (D) T(K)=273+C
(11) The specific heat of ice is: e 2 a2 § Sz (1)
(A)2100 JKg' K (B) 2200 JKg' K (C)2300 JKg' K (D) 2400 JKg' K"
(12) !1):1; ;r?;uc of coefficient of linear thermal expansion of e St I I P LS (D

(A)1.9x 10% K" (B)1.9x10°K" (©1.9x 107 K" D) 1.9x10* K"



